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5 T hERE m 692
6.x—1 B I m 493
7.x-2 mELE m 200
8.RL A & 14
9. - T HE m 270
10— 25 (MS-2ZE 4 )aV R) 10mmEBZ15mmEL T m 270
L FEAEME m 5.6
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9. —ILiE m 373
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HETEE
LAV EIERAIK (x-1)
2HERITS (66+0.5) *3.7 = 246.05 m
1 &R T 5 (66+0.5)*3.7 = 246.05 m
SitEiE 4921 m
LAV EEIK (X-2)
2&GER— LI EAY) 0.48%66 = 3168 m
18R —LiL EAY 0.48%66 = 3168 m
2B BWEKE 0.6%66 39.6 m
1 B IRHKE 0.6%66 39.6 m
R— LR BEKE 0.3%(3.7+0.35)%2%2 = 486 m
h—Lin BB _E AL (0.065+0.16+0.16)*(3.7+0.35)*2%2 6.237 m
T RE7EAY (0.5-0.15)%66%2 = 462 m
&&t = 199.857 m
LAY
[FLA4275¢ 14 &
O— LEEBFRBEMS—2ZF )32 %) 15mm
TKF 0.7%2+64%2 = 129.4 m
15 EAY 66 = 66 m
2F/ I ENY 66 = 66 m
R—LImERER (0.35+3.7)%2 = 81 m
St = 269.5 m
7 A7 LBk E
2B = 246.05 m
1 b = 246.05 m
2&E 5L EDY = 3168 m
18R EAY = 31.68 m
R"—LingBiL _EAY (0.065+0.16+0.16)%(3.7+0.35)%2%2 6.237 m
TR EHNY (0.5-0.15)*66%2 = 462 m
h—LImERBEKE 0.3%(3.7+0.35)%2%2 = 486 m
HEKE = 792 m
SEtEIE 691.957 m
FE M HERK 691.957%0.008 553 m
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TREIEAY (24.5+15+24.5)*0.33 = 21.12][m
2ERTS 66% (3.62-0.4+0.35) *1 = 235.62 m
P& SR —LiL EAY 66%0.45 = 297 m
B3 ES 66* (3.62-0.4+0.35) *1 = 235.62 m
1B h— LAl E AN 66%0.45 = 297 m
R— LIRER (0.88+0.16+0.08+0.3) *(7.240+0.5+0.5) %2 = 23.4016 m
SitmEiE = 575.1616 m
NP2 %
EIEERSER 0.6%0.6%8 = 288 m
THBER 0.6%0.6%8 = 288 m
FLA275¢ = 8 &
TARPE—IIEERRKIE
= 7 MS-—2ZF)a %) 40mm 66%2+0.7+0.7 = 133.4 m
R— LGS — LB EBRIE
=1 (MS-2ZE R %R) 15mm (7.240+0.5+0.5) *2 = 16.48 m
R—LZ EAYS—1) T (MS—2EES I %) 15mm66 X 2 = 132 m
a5t = 148.48 m
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byTa—bBRYEZ
T RKESL EAY ((66+2.2)*2+0.8+0.8) *(0.495-0.15) = 4761 m
3 ES (66+2.2)*(3.1+0.42) = 240.064 m
2GR — LI EAY) 66 X 0.48 = 31.68 m
E3Es] (66+2.2)*(3.1+0.42) = 240.064 m
1E R —LiL EAY) 66 X 0.48 = 31.68 m
R—LImER (0.88+0.16+0.08+0.3) * (7.24+0.5+0.5) + (0.08+0.16+0.08+0.3) * (7.24+2.2+2.2) = 18.9176 m
EERERIEEE ((0.4+1.65)%2.2) —1%1.65) *2 = 572 m
SitER = 615.7356 m
KLA>
(ZEHKBE 0.6%0.6%16 = 576 m
T HiER 0.6%0.6%16 = 5.76 m
FLA275¢ = 16 &
— (MS-2Z Rz )32 %) 15mm
TRE (66+2.2)%2+0.8+0.8 = 138 m
edEh/ — (0.8%2+0.5%2+0.25*4)%7+(0.91*2+0.42%2+0.25%2)%2 = 3152 m
R— L ImeR (7.240+0.5+0.5)+(7.2+2.2+2.2) = 19.88 m
R—LinEhil EAY 66%2 = 132 m
HR—XTL—F 1.2%32 = 384 m
M7 h—HRILR 0.4%32 = 128 m
85T = 372.6 m




